


Q1 (1) f(x) = LogeY
fixx) = *
fr(x)=
f((x) = =

·

f((x) =

(- 1(4t! (n-1) !

Xn

(2) f(x) = aY

fixe = aYlogea
fix) = a (logea)

---

fr(x) = a Y(logea)"

(3) f(x) = XeY

f"(x) = 2xe* + XeY = (x*+2x)eY

fi(x) = (2x +2)e*+ (x+2x)ex = (x+ 4x+2)eX

f((x) = (2x+4)ex + (x*+4x+2) = (x+6x+6)eY

f((x) = (2x +6)e*+ (x+ + 6x+6) = (x+ 8x+12)eX

---

f((x) = (x+2nx + n=n)eY



In
=

+(x)=

hix) = +)
Ex=

h((x) =

3

th(x) = 5

hi (x) =
4

th(x) =

4

·
"

4m(x) =
( 1)"n ! thix=
(x-194+ 1

=> fi = i!-



Q .2 = ecos =X = - esinv =
-Y

= esinv=y= ecos = X

=y

= = -y +X

== ) X +

+ ) -Y

=y ((y) +

1 - Ex +x) . X

7 + = (x+y4)=



Q3
(1) Let Ix= e

*&x
, Ly= edy

X= VCOSF

=> Ex)= 2xzy= xdy

50 e-rirdrdo="doSerdri

- x( - e Y = x
-

=> Ix = Se-X=

12
Let

X=
re(0 ,

+)I
y= Oc (0,

and
=an erdr=


